(3 PrO

Quick Installation Guide

INTEGRATED ALL IN ONE OMNI ANTENNA
276-8465

s @ NE
-

P -
J |
\ﬁ'

l

|

—
-

I

I

L)

P/N: 434522
1/7



Quick Installation Guide | Integrated All In One Omni Antenna

What's inside

back cover
sealing gasket
front cover
mount
M8 nuts
M8 u-bolt
Wi-Fi Antenna
M6 X 18 screw
M6 pads
M4 x 40 screw
RJ45 socket

SowvwoNOGbhwWN -

X4

@)

@

X4




Quick Installation Guide I Integrated All In One Omni Antenna

Antenna Installation

I
Z
f (

13}

0,

3/7



Quick Installation Guide | Integrated All In One Omni Antenna

Antenna Installation
with PoE splitter

477



o/7



Quick Installation Guide | Integrated All In One Omni Antenna

WiMount Installation

10

6/7



Quick Installation Guide | Integrated All In One Omni Antenna

Mast and Wall Installation

m MAST - Standard

@ [AEEREREARIRRESRERRENEI c——
Not Included!

117



